AT FFFFREAT(T7)
Al a5 1 58D 5 |
~Chain of Thought ##F~
202546 H 10 H
IOESES TR 35
priRsEt (R R

TAT RsFFfE AT ) — 23, R RE ALRFFORA > &I LEd, MEes
F Lo TWDHHEAWREZENA FTIE AL Bl —&720, 2O AT HIF - VU 2—
Varaefire LCEYICHEFEL TBS ZLARETH LI LEFEIETHLH E
A,

AT H471% Google, Microsoft, Amazon ##aH & L7-IT 77 v b 7 4 —~ . #FFeHERd
KORFENSEEO L NZHT2 72 FEMERINTE Y, 72 AL ZIEH Lz
YV a—varbikae b)) —2AZTWET,

AR TIECKESEE IT %42 P02, 2R b0 Enb S AL Frafl sl S
NIEALT 7 /ay— V) a—arORA Ly Nebhr 0T < L 7,

148

KRN Google

HFEH 202341 H 27 H

/ABAH 202348 H 3 H

AR US20230244938

FHOAFR FRIFE SN TEET LV E 0 S N T 570D DR BRITO
BE 0B O H

938 ¥, m 7 MR = U KT RISE I A THREIKIEEDfER F L —
A H T IR K EREET /L (LLM) OHftiaie 1z m LS5 2 & 23l
7¢ Chain of Thought (& oEdH) 2B 5,

2 FFFNAE DR
FREBNIAS T — 2 11 202 O F2HEGI 2 7R T,



| Input Data Structure 202

Instructive Sequence 204

Instructive Query 206 Operative Query 212
“Q: Roger has 5 tennis
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Standard Prompting Chain-of-Thought Prompting
. Model Input ~
Q: Roger has 5 tennis balls. He buys 2 more cans of Q: Roger has 5 tennis balls. He buys 2 more cans of
tennis balls. Each can has 3 tennis balls. How many tennis balls. Each can has 3 tennis balls. How many
tennis balls does he have now? tennis balls does he have now?

A: The answer is 11. A:
The answer is 11.

Q: The cafeteria had 23 apples. If they used 20 to

make lunch and bought 6 more, how many apples Q: The cafeteria had 23 apples. If they used 20 to
do they have? make lunch and bought 6 more, how many apples
-/ Kdo they have? j
' A: The answer is 27. x ) A
The

answer is 9. 4/
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